
Polaris RZR PRO XP 2 Roof Aluminum

Polaris RZR PRO XP 2 Roof Aluminum

¼”-20 x 3/4” Bolts (BSS) – 8  

¼”-20 Lock Nuts (SS) – 8

¼” Flat Washers (BSS) – 16

(13 ft.) 1/2 X 1/8"  Edge Foam – 1

¼”-20 x 3/4” Bolts (BSS) – 8  

¼”-20 Lock Nuts (SS) – 8

¼” Flat Washers (BSS) – 16

(13 ft.) 1/2 X 1/8"  Edge Foam – 1

STEP ONE – Carefully place the roof on its top. 
Apply the foam to the edge of the roof. Start 
from an inch from the front corner to the 
back bend on both outside edges. Optionally 
you can attach foam to the cross bars. 
The adhesive on the foam is very strong, 
where ever it is placed it will be permanent. 

STEP ONE – Carefully place the roof on its top. 
Apply the foam to the edge of the roof. Start 
from an inch from the front corner to the 
back bend on both outside edges. Optionally 
you can attach foam to the cross bars. 
The adhesive on the foam is very strong, 
where ever it is placed it will be permanent. 

STEP TWO – Place the roof on the top of the cage lining up each hole. Start the 3/4 " bolts with washers 
and nuts in each available hole. Beginning tightening the bolts starting at the back making sure to keep 
the roof centered. 

STEP TWO – Place the roof on the top of the cage lining up each hole. Start the 3/4 " bolts with washers 
and nuts in each available hole. Beginning tightening the bolts starting at the back making sure to keep 
the roof centered. 

Trim Placement

Trim Placement


